	Cis 350, 2003   QUIZ #7 (Total: 10 points)

NAME:


4 points

The base functions of the 2D fourier transform are defined by 

a*cos(ux + vy) + b*sin(ux + vy), where u,v are integer constants defining the frequency.

Assign the following combinations of a,b,u,v to the pictures:

a) a=1, b=0, u=1, v=0

b) a=1, b=0, u=2, v=4

c) a=0, b=1, u=0, v=1

d) a=0, b=1, u=1, v=2
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3 points

The discrete fourier coefficients of the 1D fourier transform of a discrete function f(x) are defined by

F(u)=1/M * (​  f(x) * (cos(2(ux/M) - i*sin(2(ux/M))

What’s the meaning of the different variables u, M, f, x ,F?

M__  is defined by the number of samples in the function to be analysed

u__  is the index of the frequency component

F__ is an imaginary number, the fourier coefficients for each frequency component

f(x)__ is the function to be analyzed

x__ is the ‘running’ variable for the summation

3 points

Which of the following statements is correct ? (SD=Spatial Domain, FD=Frequency Domain)

· high contrast (sharp edges) in the SD corresponds to high frequencies in the FD
· high contrast (sharp edges) in the SD corresponds to low frequencies in the FD

· low contrast (blurred edges) in the SD corresponds to low frequencies in the FD
· low contrast (blurred edges) in the SD corresponds to high frequencies in the FD

· to get the basic impression of an image, only the high frequencies in the FD are needed

· to get the basic impression of an image, only the low frequencies in the FD are needed

